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1) Find the mode of the following set of data: 2) 18/19 = 20/15 3) 975+ 39
87, 87, 87, 87, 87, 85, 85, 85, 37,
37,37, 37, 37,90, 90, 90
Answer: Answer: Answer:
4) 2%, x 1134 5) . 6) 31x 100
28 7 Find Volume of
/28 Triangular Pyramid
29 28
26
Answer: Answer: Answer:
7) 160+ 10, 5 8) 16+ 10, 9) 10 x 1000
Answer: Answer: Answer:

10) 682.34+218

11) A number is chosen at random from
1to 50. Find the probability of

12) Convert the following improper
fraction 1113/, + 1813/ 4 intoa

selecting factors of 12. mixed number
Answer: Answer: Answer:
13) Find perimeter of 14) 1771, x 1412 o 15)  Convert the following mixed number
triangle 629/, into an improper fraction.
b b a=760m,b=833
m
a
Answer: Answer: Answer:
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16) /

A B=77
Find the Angle at side A.

Answer:

17) 6%/ x 21/,

Answer:

18) Round 26.83to 1 decimal places.

Answer:

19) Share 58 in theratio 12:46

20) Convert the following mixed number
141,  into an improper fraction.

21) Convert the following mixed number
1415 ¢ into an improper fraction.

Answer: Answer: Answer:
22) 369.1+415 23) \ 24)  Round 24.1 to the nearest 100
A =53 B
Find the Angle at side B.
Answer: Answer: Answer:
25) 866 x 933 26) 6x 1000 27) (-418) + (-22)
Answer: Answer: Answer:
28)  (-106) + 32 29) 1415+ 139, 30) V
a 0 c

Answer:

Answer:

Measure angle boc

Answer:
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31) 19+5x3+7 32) Round 16.7 to the nearest 10000 33) (-928) + (-29)
Answer: Answer: Answer:
34) 35) 35x 10 36) (-168) - (-163)
Find the next three numbersin
the sequence
48812121616 , ,
Answer: Answer: Answer:

37) 45x 10 38) 156.95 + 36.5 39) Convert the following improper
fraction 314/15 + 47/8 into amixed
number

Answer: Answer: Answer:

40) 41) 895 - 757 42) 42x10

29 J Find Volume of Cone
S —
27
Answer: Answer: Answer:
43) 42x 10 44) 128/, x 28/, 45) (-472) - 790
Answer: Answer: Answer:
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Answer:

Measure angle boa

Answer:

46) 47) 1/113 of 226 48) Convert the following mixed number
Find the next three numbersin 1%/, into an improper fraction.
the sequence
39,34,51,46,63,58,75 , ,

Answer: Answer: Answer:
49) Convert the following mixed number 50) 'What isthe probability of rolling a 51)  Findthemode of thefollowing set of data:
1%, into an improper fraction. number |ess than 6.when rolling a 36, 36, 13, 13, 13, 17, 17, 17, 17,
dice 17,17, 76, 76, 76, 35, 35, 35, 35,
35,35
Answer: Answer: Answer:
52) 25x 10 53) 49x 10 54) Decrease 274 by 2/ 137
Answer: Answer: Answer:
55) Find perimeter of 56) 844 + 820.8 57) 499 x 706
sguare having each
s side (s) equals 554 m
s
Answer: Answer: Answer:
58)  26.7+533 59) \ b 60) \ b
a 0 a o c

Measure angle boc

Answer:
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61) Find the percentage change from 40
t0 82

62)  103+475

Y \

Name the type of angle.

Answer: Answer: Answer:
64) 19000 + 1000 65) Anamount was decreased by 4.2% to 66) Find perimeter of
$146.00. Find the origina amount. square having each
s side () equals 709 in
s
Answer: Answer: Answer:

67) Convert the following mixed number
20%/,5; into an improper fraction.

Answer:

68) 608+ (-32)

Answer:

69) A number is chosen at random from
1to 50. Find the probability of
selecting divisors of 14.

Answer:

70) 544+ 32

71) Find the percentage change from 80
to 24

72) 1549 x 1%,

Answer: Answer: Answer:
73) 74) A number was shared in theratio 75) Find area of triangle
25:20. The smaller share was 56. a=123in,b=532
What was the larger amount? b ¢ in
A=25 B
Find the Angle at side B. a
Answer: Answer: Answer:
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76) Find area of triangle 77)  Simplify 34:21 78) 34000 -+ 1000
a=123in,b=532
b c in
4
Answer: Answer: Answer:
79) Convert the following mixed number 80) Convert the following mixed number 81) /
197/ into an improper fraction. 197/ into an improper fraction.
A B=21
Find the Angle at side A.
Answer: Answer: Answer:

82) 83) 1785+ 11%, 84) 1000+ 100
Find the next three numbersin
the sequence
20,0,-2-2,-4-4_, ,
Answer: Answer: Answer:
85) 20.2x17.2 86) Find perimeter of 87) Anamount was decreased by 4% to
triangle $305.00. Find the original amount.
b b a=932m,b=934
m
4
Answer: Answer: Answer:

88)  382-(-730)

Answer:

89) 8435+ 273.8

Answer:

90) A number was shared in theratio
18:3. The smaller share was 32.
What was the larger amount?

Answer:
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91) 476 - 34 92) Find the mode of the following set of data: 93) Share 45 in theratio 3:12
6, 6, 6, 6, 6, 82, 82, 89, 89, 89, 89,
89,2,2,22,2,22
Answer: Answer: Answer:

94) 39000 + 1000 95)  365.19+25.9 96) Find perimeter of
square having each
side (s) equals699in

s
Answer: Answer: Answer:
97) 428 - 295 98) Find area of 99) Round 19.55631384 to the nearest
triangle 100
b b a=652in, b =768
in
a
Answer: Answer: Answer:
100) Find perimeter of
b rectangle having
sidesa =983 ft
a and b = 967 ft
Answer:
Total: / 100
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1) 87 2) %l og

8) 22/, 9) 10000
15) 16/ 16) 103
22) 4106 23) 127
29)18%,,,,  30)20

36) -5 37) 450

43) 420 44) 36%/ g
50) %/ 51) 17

57) 352294 58) 559.7
64) 19 65) $139.87
71) -70% 72) 221
78) 34 79) 102/
85) 347.44 86) 2800m
92)2 93) 3: 42
99) 19.56 100) 3900ft

3)25
10) 31.3
17) 131,
24)24.1
31)

38) 43

45) -1262
52) 250

59) 45

66) 2836in
73) 155
80) 102,5
87) $292.80
94) 39
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4) 4l
11) %,

18) 26.8
25) 807978
32)16.7
39) 8%7/159
46) 70,87,82,
53) 490
60) 110
67) 81/,
74) 70

81) 159
88) 1112
95) 14.1

MATHS WORKSHEET

GEMERA

Answers:

5) 3518.6666666667
12) 30157/ g
19)1:57

26) 6000

33) 32

40) 5534.7008574618
47)2

54) 270

61) 105%

68) -19

75) 32718in

82) -6,-6,-8,

89) 1117.3

96) 2796in

6) 3100
13) 2426m
239,
20) 239/,

27) 19
34) 20,20,24,
41) 138

28
48) %8
55) 2216m
62) 578

2,

69) 2/
76) 32718in
533,
83) 15393,
90) 192
97) 133
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7) 22,

14) 25414 o
21) 239/,
28) -33

35) 350

42) 420

49) %8,
56) 1664.8
63) Acute
70) 17
77)34:21
84) 10

91) 14

98) 184075.43162519in
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